ozYy WORLD

Issued: Aug., 1990
GAS RESIDENTIAL HEATER KW-200P
Illustrated Parts List KW-300P

IMPORTANT: Do not use key numbers when ordering service parts. Always order components

by part number and description. Include model and serial numbers.
KEY PART NUMBER FOR KEY PART NUMBER FOR
NO. | KW-200P KW-300P DESCRIPTION QTY.| NO. | KW-200P KW-300P DESCRIPTION QTy.
1 098304-01 098304-01 Screw, #10 x 3/8" 2 |23 |098277-01 098277-01 3/8" to 1/8" NPT Bushing 1
2 098742-10 | 098742-11 Front Panel 1 |24 |098265-01 098265-01 3/8" NPT Male Elbow 1
3 098197-03 | 098197-04 Grill Guard 1 [25 |098275-01 098275-01 3/8" NPT Plug 1
4 101108-01 101108-01 Clip, Grill Guard 2 |26 |098522-01 098522-04 Thermostat Gas Valve 1
5 098533-01AA | 098533-02AA | Bottom Glass Retainer 1 [27 |098530-02 | 098531-03 Cabinet 1
6 098260-01 098260-02 Glass Panel 1 [28 | 10244501 102445-01 Piezo Ignitor 1
7 098532-01AA | 098532-02AA | Top Glass Retainer 1 129 1098319-01 |098319-01* | Fastener, “U” Nut 2
8 M11084-26 | M11084-26 | Screw, #10 x 3/8" 4 |30 |M11084-26 | M11084-26 | Screw, #10 x 3/8" 2
9 098352-01BR | 098352-02BR | Deflector Unit 113 M11084-38 | M11084-38 | Screw, #8 x 3/8" 2
10 | 09827102 | 098271-02 Ignitor Cable 1 [32 |099066-01 099066-01 Mounting Bracket 1
11 098249-01 098249-01 Nut, M5 2 PARTS AVAILABLE - NOT SHOWN
12 | 09944006 | 099440-06 ODS/Pilot 1

12-1| 098514-01 098514-01 Thermocouple 1 099267-01 099267-01 Owner's Manual 1

12-2| 098515-01 098515-01 Ignitor Electrode 1 098307-02 | 098307-02 Operating Instructions
13 099120-02 099126-02 Burner 1 Label 1
14 | 098517-01 098517-01 3/16" Pilot Tubing 1 098305-03 | 098305-03 Control Position Label 1
15 098251-01 098251-03 In!ector 1 ACCESSORIES
16 098250-01 098250-01 Injector Holder 1
17 098924-03 098924-03 Pressure Regulator Kit 1 KW-2000 KW-2000 Fan Kit
18 098274-01 098274-01 1/2" NPT Male Connector 1 KW-4000 KW-4010 Floor Mounting Stand
19 098518-01 098518-01 3/8" Outlet (Burner) Tubing| 1 GA5000 GA5000 Baso Meter
20 | 098520-01 098520-01 3/8" Inlet Tubing 1 GA5010 GA5010 Manual Shutoff Valve with
21 098264-01 098264-01 3/8" NPT Male Connector 1 1/8" NPT Tap
22 | 098276-01 098276-01 1/8" NPT Plug 1

* No Longer Available
099347-01
REV.B

1/96




.
% 1
/
Lz
N
N/
X
/,.,
\\
W\

/ ﬁ_ QN
N\
\\\4

y
/

wn

oDSPilot

Main Heater Assembly




